

6280 24 ST, MIAMI, FL, US, 33155

https://equinoxrealtyinc.com

Beautifully renovated 5BR/3BA multi-generational home with a split floor plan and private in-law quarters. Enjoy peace of mind with updated roof, impact windows, and driveway. The kitchen features quartz countertops, a farmhouse sink, a hood, and plenty of lighting that makes the home feel warm and inviting. Zeroentry showers add style and accessibility. Over 2,000 sq [...]

- 5 beds
- 3 haths
- Residentia
- Single Family Residence
- Active
- 1936 sq ft



Amenities



Features: Cooking Island, Den/Library/Office, Family Room, First Floor Entry, Maid/In-Law Quarters, Separate Guest/In-Law Quarters, Split Bedroom, Studio Apartment, Utility Room/Laundry, Walk-In Closet(s)

Amenities: Dishwasher, Dryer, Electric Range,

Microwave, Refrigerator

WindowFeatures: Clear Impact Glass, Complete

Impact Glass

Waterfront available: No

AttachedGarageYN: No

PoolPrivateYN: No

Security Features: Smoke Detector

CommunityFeatures: None

ExteriorFeatures: Lighting, Fruit

Trees, Room For Pool

GarageYN: Yes

Cooling System: Yes

FireplaceYN: No

Rooms



Room type	Dimensions	Area	Length	Width
SecondBedroom	15 X 10	150	15	10
FourthBedroom	10.5 X 13	136.5	10.5	13
FifthBedroom	11 X 11	121	11	11
UtilityRoom	5 X 7	35	5	7
Den	12 X 10	120	12	10
PrimaryBedroom	15 X 16	240	15	16
ThirdBedroom	10 X 6	60	10	6
Kitchen	10 X 13	130	10	13
LivingRoom	14 X 25	350	14	25
DiningArea	14 X 10	140	14	10

Building Details



Cooling features: Central Air

ArchitecturalStyle: Attached, One Story

Building Name: KINBREY SUB

Roof: Barrel Roof

Parking: Circular Driveway, Driveway, Paver Block,

Slab/Strip

Year built: 1949

NewConstructionYN: No

Exterior material: Concrete Block

Construction

Heating: Central

